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例題 48 

(2) 別解 

 11 3
1

3
1

-- += nnn cab ， 11 3
1

3
1

-- += nnn cad より， ( )113
2

-- +=+ nnnn cadb  

 よって， ( ) ( )111111 3
2

3
1

--++++ +++=+ nnnnnn cacaca  

(3) 

( ) ( )111111 3
2

3
1

--++++ +++=+ nnnnnn cacaca について， nnn caA += とおくと， 

11 3
2

3
1

-+ += nnn AAA より， ( )11 3
2

-+ --=- nnnn AAAA ， 11 3
2

3
2

-+ +=+ nnnn AAAA  

よって， 

( )

( )

( ) ( ){ }

( )

1

0011

01

11

3
2

01
3
10

3
2

3
2

3
2

3
2

+

-+

÷
ø
ö

ç
è
æ-=

þ
ý
ü

î
í
ì

+-÷
ø
ö

ç
è
æ +÷

ø
ö

ç
è
æ-=

+-+÷
ø
ö

ç
è
æ-=

-÷
ø
ö

ç
è
æ-=

--=-

n

n

n

n

nnnn

caca

AA

AAAA

　　　　　

　　　　　

　　　　　

　　　　　

 

( ) ( )

( )

1

01
3
2

3
10

3
2

3
2
3
2

3
2

0011

01

11

=

++÷
ø
ö

ç
è
æ +=

+++=

+=

+=+ -+

　　　　　

　　　　　

　　　　　

　　　　　

caca

AA

AAAA nnnn

 

 これより，
1

3
21

3
5 +

÷
ø
ö

ç
è
æ--=

n

nA  

 よって，
ïþ

ï
ý
ü

ïî

ï
í
ì

÷
ø
ö

ç
è
æ--=

+1

3
21

5
3 n

nA  すなわち
5
3

3
2

5
2

3
21

5
3 1

+÷
ø
ö

ç
è
æ-=

ïþ

ï
ý
ü

ïî

ï
í
ì

÷
ø
ö

ç
è
æ--=+

+ nn

nn ca  


